QUOTATION NOTICE

PURCHASE OF CONSUMABLES SERIGRAPHY MATERIALS FOR APPLIED ART DEPARTMENT

No. D/ 1628/2023/CFA/TVM

Quotation No. 01/2023-24/CFAK/TVM

Sealed quotations are invited for the supply of the materials specified in the schedule attached below/overleaf. The rates quoted should be for delivery of the articles at the place mentioned below the schedule. The necessary superscription, due date for the receipt of quotations, the date up to which the rates will have to remain firm for acceptance and the name and address of officer to whom the quotation is to be sent are noted below. Any quotation received after the time fixed on the due date is liable to be rejected. The maximum period required for delivery of the articles should also be mentioned.

The acceptance of the quotations will be subject to the following conditions:

- 1. Acceptance of the quotation constitutes a concluded contract. Nevertheless, the successful tenderer must within a fortnight/a month after the acceptance of his quotation furnish 5 per cent of the amount of the contract as security deposit and execute an agreement at his own cost for the satisfactory fulfilment of the contract, if so required.
- 2. Withdrawal from the quotation after it is accepted or failure to supply within a specified time or according to specifications will entail cancellation of the order and purchases being made at the officers expenses from elsewhere, any loss incurred thereby being payable by the defaulting party. In such an event the Government reserves also the right to remove the defaulter's name from the list of Government suppliers permanently or for a specified number of years.
- 3. Samples, duly listed, should be forwarded if called for under separate cover and the unapproved samples got back as early as possible by the officers at their own expenses and the Government will in no case be liable for any expenses on account of the value of the samples or their transport charges, etc. In case, the samples are sent by railway; the railway receipt should be sent separately, and not along with the quotation since the quotation will be opened only on the appointed day and demurrage will have to be paid if the railway parcels are not cleared in time. The approved samples may or may not be returned at the discretion of the undersigned. Samples sent by V.P. Post or "freight to pay" will not be accepted.
- 4. No representation for enhancement of price once accepted will be considered during the currency of the contract.
- 5. Any attempt on the part of tenderers or their agents to influence the Officers concerned in their favour by personal canvassing will disqualify the tenderers.

- 6. If any license or permit is required, tenderers must specify in their quotation and also state the authority to whom application is to be made.
- 7. The quotation may be for the entire or part supplies. But the tenderers should be prepared to carry out such portion of the supplies included in their quotation as may be allotted to them.
- 8. The prices quoted should be inclusive of all taxes, duties, cesses, etc., which are or may become payable by the contractor under existing or future laws or rules of the country of origin/supply or delivery during the course of execution of the contract.
- 9. The tenderers shall quote also the percentage of rebate (discount) offered by them in case the payment is made promptly within fifteen days/within one month of taking delivery of stores.
- 10. Special conditions, if any, printed on the quotation sheets of the tenderers or attached with the tender will not be applicable to the contract unless they are expressly accepted in writing by the purchaser.

Quotation Number	01/2023-24/CFAK/TVM
Due date and time for receipt of quotations	30/10/2023, 5PM
Date and time for opening of quotations	01/11/2023,11.30AM
Date up to which the rates are to remain firm for acceptance	31/03/2024
Designation and address of officer to whom the	The Principal, College of Fine
quotation is to be addressed	Arts Kerala, Thiruvananthapuram,
	Palayam, Vikas Bhavan P.O Pin. 695033

Superscription: Purchase of Consumables in Applied Art Department of College of Fine
Arts Kerala, Thiruvananthapuram

Place: Thiruvananthapuram

Date: 21/09/2023



College of Fine Arts Kerala College Of Fine Arts Kerala, Thiruvananthapuram

SCHEDULE OF ITEMS

Quotation No.01/2023-24/CFAK/TVM

Sl. No.	Name of Item	Specification	Unit	Quantity	Total Rs.
1.	Screen Printing mesh	140S, 5 mtr	1500	5	7500/-
2	Five Star Film	Mtr	1000	5	5000/-
3	Banian Waste	5kg	200	5	1000/-
4	Cotton Waste	3kg	120	3	360/-
5	Transparent Tape	1 inch	60	10	600/-
6	Brown Tape	2 inch	60	10	600/-
7	Towel	Big Size	300	3	900
8	Nylon Squegee	5 inch	300	2	600/-
9	Nylon Squegee	7 inch	400	2	800/-
10	Hydrogen peroxide	450ml	100	10	1000/-
11	Decoder Liquid	1 Ltr	480	1 Ltr	480/-
12	Sensitiser	40 Pouch	260	40 Pouch	260/-
13	Hand Glove	5 packet	150	5	750/-
14	Cleaning Reducer	1litre	230	3	690/-
15	Wooden Frame	12x18inch	800	3	2400/-
16	Hair Dryer	1000W, 2speed	1200	1	1200/-
	Metal Tray with Ceramic Coating	12"x18" with Ceramic coating	1200	4	4800/-
	Printing ink matte, cyan Blue, Magenta, Yellow, Black	400gm, 4 (1 for each colour)	250	4	1000/-
			G	RAND TOTAL	29,940/-
	(RUPEES TWENT	Y NINE THOUSANI	NINE HU	JNDRED AND F	ORTY ONLY

OTHER CONDITIONS

- 1. The rate quoted should be inclusive of all taxes and expenses. College of Fine Arts Kerala, Thiruvananthapuram -695033.
- 2. The item should be supplied within 7 days on receipt of Supply Order.
- 3. The payment will be made only after satisfactory supply and survey of goods
- 4. All rules stipulated in store purchase rule is applicable for this purchase
- 5. Rates quoted should be inclusive of all charges

THIN ANANTHADORES

PRINCIPAL
PRINCIPAL
ollege of Fine Arts Kerala

Thiruvananthapuram